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BASHIA v I\ Y 0564-59-3525
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Qi Ay voBEI VA (RDS-04)

fhIcERTY

OUSLE XFyIBI VA (RDS06) O BRIE XyvIARY VA (RDS08)

6-1934-0101 T03-182 A 180x90xH123 550c.c. ¥ 6,100

6-1934-0301 T03-188 X 180X 90X H123 550cc. ¥6,100 6-1934-0501 T03-194 X 180x90xH123 500c.c. ¥6,100

6-1934-0102 T03-183 /J\ 110X75xH110 300cc. ¥4,500

6-1934-0302 T03-189 /)7 110X 75X HI10 300c.c. ¥4,500 6-1934-0502 T03-195 /I\ 110x75XH110 300cc. ¥4,500

O i AyvIA7 oA T03-184
(RAK-01) 6-1934-0201 ¥5,000

90%90%H120
D@AF L

@ i AFvIRF VA (RDS05)

OLLE R5vIETIA T03-190 OERIE Ay¥vIETI A T03-196
(RAK-03) 6-1934-0401 ¥5000 (RAI-05) 619340601 ¥5000
90X 90X H120 90X90XH120
Eor ot COBALE

OULSLE XFyIATV A (RDSO7) DERIE RFvIAF VA (RDS09)

8 D ~RDREYHI— KRBT A X
CEICTNZNRHBERDCENTE, [

6-1934-0701 T03-185 X 190X 105X H123 550c.c. ¥5,600

6-1934-0901 T03-191 X 190X 105X H123 550c.c. ¥5,600 6-1934-1101 T03-197 K 190x105xH123 550c.c. ¥5,600

6-1934-0702 T03-186 /J\ 125X 85X H110 300cc. ¥4,200

6-1934-0902 T03-192 /J\ 125 85%H110 300cc. ¥4,200 6-1934-1102 T03-198 /]\ 125% 85xH110 300cc. ¥4,200

O fiifly AFvIR7IA T03-187
(RAK02) 619340801 %3,200

120X H95
Q@R

2 g
®BFE & LA Y-027

(RMJ-59) 6-1934-1301 ¥4,300
$85%XH120 460cc.

O EFEFT LA Y-026
{RNVIJ-58) 6-1934-1401 ¥ 5600
¢100xH140 800cc.

O HEFEE HSA Y-028
{RMJ-60y 6-1934-1501 ¥2.700
¢ 120XH95
Q~EFEF 7

OLBILE RFYIATIA T03-193
(RAK-04) 6-1934-1001 ¥3200

®BRIE A¥yoR7I A T03-199
{RAK-06) 6-1934-1201 ¥3,200

120xH95 120xH95
A vale st

@ &hi BAN K Z-003

®ERIEE # ZUA Y-030 OB/ VA X Z-001
(RMJ-J6)_6-1934-1601 ¥3500 (RMJ-41) 6-1934-1901 ¥7450  (RMJ-43) 6-1934-2101 ¥6000
¢85xH120 460cc $91xH135 $128xH98

DBERIER F4 ELA Y029 OBFHIVANMNZIR @FH S AN /N Z004
(RMJ-J5) 6-1934-1701 ¥4,700 (RM-42) 619342001 ¥5500  (RMJ-44) 6-1934-2201 ¥4,300
®100xH140 800G, $81xH115 $90xH20

®BERIEE HSA Y-031 O~z

(RMJ-J7) 6-1934-1801 ¥2.800
¢ 120X H95
®~ B 15
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